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Read the following passages and respond to the questions that follow each passage. Your responses
should be based on the passages

UA HHIER 1T 5

1]

TqUT UTEA, Weaer JuTHi foham Tudidier faee amyeTel aRdisr 9T, HTReATs WA & At
ST, I QT FIeAT G e Siea S S IR FICATSR BIUT-AT HeAuTHIYaITe! i Ee
T ¥ S STE B STV STEE. ST SR W FOAH T e fred TR, sl S
ISP T 2 HIFH U T, FEUS T it ST el et e mmvarsaent e o, gl e
> S AT BT HECATS] Heeh TR, Sehiengd A1 ot arg fHesvl; il STea ST wT st wisifera
T STt o7 i TS ST T R A i’ el e S VR 3. SR qoe
aﬂﬁmmwﬁﬁrﬁ‘rwﬁaaﬁ WS Al T HIGAT THET, SR U S S, Faes
gﬁnaaﬂ aﬁmﬁmm%ﬁmﬁwﬁmﬁmwﬁﬁ ﬁwwﬁmnﬁaﬁmﬁ
mmmmwm 7T wfere fereurdt JTuE e T, areee waret s,
mmﬁ%mwﬁmmmm TS ATYTET TErea fffar syt aree) S
SFTE) ST ST T TR € W T SRVTT Ul Gt o

Séanned by CamScanner




Question Number 1to 5

1.

Internal motivation is the inner gratification, not for success or winning, but for the fulfilment that
comes from having done it. It is a feeling of accomplishment, rather than just achieving a goal. Reaching an
unworthy goal does not give the gratifying feeling, Internal motivation is lasting, because it comes from
within and translates into self-motivation, Motivation needs to be identified and constantly strengthened to
succeed. Keep your goals in front of you and read them morning and evening. Internal mj'qtivation comes
from within. Some of the important internal motivators are a sense of responsibility; dccountability,
ownership, pride in performance etc. Appreciation has been considered to be a great motivator,! Wh)' is that?
Because it makes a person feel good. When they feel good, their self- esteem goes up. When their self-
esteem goes up, they feel motivated. It is external because it originates from outside, though its
manifestations (feelings) are internal to the receiver. Pride in performance is an internal motivator. At the
end of the day the person feels good because he has done a great job. Even if no one appreciates, he still
feels good. In contrast, if a person does not do a good job, even if you appreciate them they still don't feel

good. Our objective really is to inculcate internal motivators.

Wﬁﬁwaﬂﬁqﬁqﬁmwﬁwmw?ﬁr
(a) WrEdsA

(b) FERFEH waTa Wi o
(c) e fefa fifehr
@) aﬂmﬁ T

.....

(a) Self sufficiency
(b) Accomplishment
(c) Success or winning
(d) Allof the above

%ﬁzrsna"r

' Ja;rqﬁrﬂa”‘laaqﬁnm
PRSCICE

(@ 1,2,3

() 1,2

(c) 1,2,4

(d) ITYhRT ATEL

What are the essential factors of inner motivation

a. Ownership

2)¢
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b. Achieving goal
¢. Pride in performance
d. Accountability

(a) a,b,c

(b) a,b

(¢) a,b,d

(d) None of'above.'

3.

(2) ARt fraurd 2

(b) TETS! AT e a1 TeaetTd I STete! Iguare gaTde
(c) HA:STAT

(d) Terasht gd

At the end of the day person feels good because? Choose the correct alternative.
(a) Everyone appreciates him or her

(b) He has done a great job

(c) Heis at peace

(d) All of the above

(a) Tt SroaTaTST SaTd & aTRT ST HecdT 3T,
(b) Arehichg fHresvITY 3TE & waltd WIS SO 315,
() ﬁwnwnwmwéﬁ i

(d) ST W ST IS TR ST,

What is the gist of the passage?

(a) Inner and outer motivation is very important for a person to be successful
(b) Appreciation has been a great motivator

NI Tedil i fi i

e Mdtii{a}ion strengthens success

" 1/(d) | It deperids upon outer motivation

(a) Tt TS ITH HEA 2.

(b) TITHM Heh L.

(c) ST ST AT TN T aget e A1,
(d) YT AT
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Appreciation has been considered to be a great motivator why?
(a) It makes person feel heavenly

(b) Self esteem liberated

(c) It makes person fill good and this self esteem goes up

(d) None

T ST 6 o 8
TOT SUATAIH A FIaTeT Hed R, STH10! STavy 7t frsshressiont areft ot df smae fouet
et g fomion s e, Sl s, sitv yreare ATy, o wifeny v1eg STICATET TEET fET G
I3 &9 YTehd. T Neh=ietIeh ATTaTTes YIeq HIE aTatad. H&meﬁmmmwﬁfmm
T mmmmmmmﬁmmmm @Hﬂmeﬁﬁmﬁw
WWW&WWWMW@&HWW Q@'cncr@?rrmmam
AT ST FIT AT YTei=T ITANT .

Question Number 6 to 8

Speech is great blessings but it can also be great c.urse for while it helps us to make our
intentions and desires known to our fe]lows, 1t can also 'if we use it carelessly, make our attitude
completely misunderstood. A slip of the tongue the use of unusual word, or of an ambiguous word, and
SO on, may create an enemy whele we had hoped to win a friend. Again, different classes of people use
different vocabularies, and the ordmary speech of an educated may strike an uneducated listener as
pompous. Unw1ttmgly, we may use a word which bears a different meaning to our listener from what it
does to men of our owrg1 cclass.. Thus 'speech is not a gift to use lightly without thought, but one which

3
demands careful handhng Only a fool will express himself alike to all kinds and conditions to men.

i!:

HRIERACIE S

11111

T
i

(a) irony in speech.
(b) pomposity in speech.
(c) verbosity in speech.

(d) ambiguity in speech

4|Fage
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(c) verbosity in speech.

(d) ambiguity in speech

A 'slip of the tongue' means something said.......
(a) Wrongly by choice.

(b) Unintentionally.

(c) Without giving proper thought.

(d) To hurt another person.

8. ST BT YTT9 37 Iehall HRUT ATHLS ..
(a)g@(g@aﬁmﬁ.
(b) Treagst Fmior g,
(c) Trshrassfiaun arear.
(d) 3TTIET @ 8 Fozd Al

ST & SR ST JTSTIS AT T AT AT, NEEHEA e A HFerarard i
i 0 W AT AT el TR, T RV SATCEATR FGE FOM A6 AU T ST
ST SEEY S qTET i e Fowdr. it S e MiRaeh FHe e 9l i g 9
T e dieatar R et far ST, Wi qEw et iy e, el age i i e
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AT JWETAT Gt TR N9 FAT wifeet T, T AT Afdier SHevIAT Fear F THasTi
wfsaTdicT SR 378 W,

Question Number 9 to 10

Nehru's was a many-sided personality. He enjoyed reading and writing books as much as he
enjoyed fighting political and social evils or residing tyranny. In him, the scientist and the humanist were

held in perfect balance. While he kept looking at special problems from a scientific standpﬁ/fht, he never

9. Wrelierdsh Sur e e g aeifen 2
(a) FoqrTIET HTeaTaTE o1fte TR TR
(b) foT™ 98 T HHEdETE ST IR,

(c) fom =nfvr TeraTaTe ST J9H wee SR,
(d) T Stifor greraTeTe Fieame i

passage, 'a benevolent power interested in men's affairs' means
(a) A supernatural power of god.

(b) Beauty of nature.

(c) The spirit of science.

(d) The total man.

6|Page
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A ST 114 15
IR SR AT 9 HEuEd T SR 4 siftmifeEme T v 9 i,

HaTe 3990 St o @ g ffid oam @ e seamatee o e fhan
ATHITE T ST (e, THH e AT JTATTE FHIaST BIaT. ST e 3T YeaT=aT Sgeqdi=rerd
I T IR FIEiTAT W BIOV (I IR T ik STearare 81 ¥eq qar (fori Fevrst Sifereh wesh/
TR T STEETIC A1 T 37 R TGN 1 FHUIN THE MANNEROF) v sritfyere a0
FTETAT T4 TS BT Y63 AT AT SR Sfcrehell TR sHUvaer /Zvs, azsﬁrcrv‘i
wmwmmaﬁawmﬁa wmwmmﬁ,

ﬂﬁ]ﬂ?ﬁ?ﬁwmmmmmwﬁa@mtﬁwqﬁ%ﬁw
aﬁwrh%mm%aqﬁmﬁ

AMGRd. 2) ThI S TR Halll I 7S
WY Tehr SehreeT =1 tfererTfersh Jamomd
[ STTEE T 3 WEH A, 4) TgAry A e AT

(d) S

12. @refie feremien foem wu sifor g gt e,
1) frogd Iferfarior wed et fegms Tam e ot o= FrRfveia foram i Ted arward Jere.
2)a@ﬁmﬁaﬁamwﬁam
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(a) 1 3 T 37T 2 T T FHIT 37,

(b) 2 % AT STET 1 € T A1 HL0T TR,
(c) 1 STMT 2 & JhlehiTeaT SIS 7Ted.
(d) 3T STEE & 8 I ATE.

13, fSferfore d Srifea Tgdimes arawr F3ior T HH....

(2) e gesmmelie 1o orremelie THAed 9 1= SHI0T JeTvd $UEh SorEdl-
(b) FATETHEY 3NN STV 7S ki STIL THT JeA! AT SATUIAT ST ITehd TET .
() T[T AT IR ifest fodes aw e am . :

14. Iy fgum faer.

) SEEE T OAOWA I Y, W TR
3) WIS AT INEHE Afde qESdieAT SurEare-eal

N A

memwmwmwm
s g fmior g, fodfta e e smmarerd fedastie seHiT S e
wﬁmﬁ%wmﬁmﬁuﬁmmwrﬁﬁ W, fegieran 9w gea: TR
T SN fede= INRITE A1E Wel B AegE Teid 916 ued A% GRuH SFE=E 9
TSNTeTd TedTe I= HId d1edicl 10T HEAT=AT HeTmsa M doe Siiae Sse, 3 e
AEET SRR GEHREt el o 8 WIEET das qereiel SeREEEie g
TCAVAT S 0T STYAT M4 TSAUATd A AT ARt 1iNmela srlwruTareT SEme &t s,
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HIoreaTdt et foma FREo gat ] S e SR gitone e weeTeE SuEl ATAT AT
EESSECIH

fefma STeran T a1 HITATE Gedl AT A JHd: NI 37l Gedl Teat
Adied TS TN aRdSdie e o= s i wree Tfr fiqera swTira
JeTEE [ESER AT I BT Sr6Ed We)-fsft saaemugnt fifira ara. an fehwdt snrorearet ey
I FHH T ST T6dTd. SRS Saeriqd e fhdt @ Jerfe ger, mewﬁaﬁ'ﬁfsa
BIATd TR TR &

ﬁ@awﬁmwmmmmmmm mﬁmﬁa"rmwm
Wmmmmmmmmmmmm @@Taﬁ@a
Wﬁwwmwmmmmﬁmmwmm ﬁmaﬂfﬂTﬁW?ﬁ
o fmior s o mﬁmmﬁﬁwwmﬁaﬁmmmm
maaﬁatrlw‘r T IERIEHE 916 TRaaY e R w, W%ﬂ?ﬂrﬁ%ﬂmmqéﬁ%
W%M%mmﬁw%ﬁaﬁﬁaﬁﬁmmmmmﬁ mmm
Wmmmmmﬁw FROT, mmwmm

'Eﬁﬁm?ﬁ %@avmmmmaﬁa
TR 7T T 3T THINE ST S fegiat
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17. ST SEEER IR AR SATTE STl AR ?

a7) eft T @ Jefded
CAEIEEC CRAERIECE LRI
%) ATSATETES ST e! YTGRIehal 3THU,
T) fohmId sTaeiaT STHUI Heca,

(a) & 3TTIVT € ek

(b) 31, ¥, F &®

(c) & 3T o AT |l

(d) s siaffea aa T

SeTeY STHUIT TEET e S doTaTdt S SreTia fedet arawar o feder stferer e
. TR ISV T8 T & AT STE! @ I TR JATSATHEY 3 el 37T .2

() THR T ST ST oot T TR

(b) FTHTT SreredT HITTeHe TGl dretell [ 318 .

(c) TeRTCR! 3iTen fe= wrel o heft ehieht o R Traferveae
(d) EETSTT= wﬁmmwmﬁ%m@ﬁwm*

L u.h“‘}
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2l. st g o). UEte At wfaaT 9 |faA RN 99 Ul amed.  wrew fudien o
Ho o e & o Stua gt goT o, o Wied g Wi aleR o
oo g owd d Tafee & faqo onfor wglier 3w amed. YAW 3nfor oer

T ShIOTd ?

T wfew i Rraieren ot o, W fagme want

(a) ATEHSH  JATHT

(b) ShTehT

(c) ST

(d) TAGURT HUdal  ATaL

i P
Mr and Mrs Patil has two children Kavita and Sachin, Sachin' has mamed to Pnyanka who is daughter of

Mr Jadhav who is married to Mayuri, Ajay and kahxl are the chlldren of V1pul and Mayuri. Poonam and

Lata are daughters of Sachin and Pnyanlxa What'is the relatxon of V1pu1 with Lata?

(a) Maternal Grandfather
(b) Uncle

(c) Granddaughter

(d) None of these

2. fdt 4 st
(a)2916
(b)2673

23. 2016 4T Guld HIGAR fdar AR 53 TS IWUATEl WWHAT HT?

(a) 2/7
(b) 3/7

11|Page
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(c)4/7

(d) SHITIhT T e
What is the probability of appearing 53 Tuesday or Thursday in year 2016?
(a) 2/7

(b) 3/

(c)4/7

(d) None of the above

24.

Wfﬁmw
(a) 25%

(b) 33.33%

() 37.5%

(d) 35.3%

A person bought 20 liters of milk at the rate of Rs. 8 p

r. He got lf”cﬁmed after spending Rs. 10 and
5 kg of cream and 20 liters of toned milk were ‘be'sold the cream at Rs. 30 per kg and toned
milk at Rs. 4 per liter, his profit in the tr,
(a) 25%
(b) 33.33%
(c)37.5%

(d) 35.3%

25.

STST T T, i 6 T YO eptcsTIIoT S[SoT Wkt & <6 8 fRererel o el e el warr fRberr 3200
©. =T NG A 1 3 Feamra ol e, o Seer e e 8 T anrden

o

e can do a piece of work in 6 days and Bhushan alone in 8 days. The total cost of that work is
Rs. 3200. With the help of Chetan, they completed the work in 3 days. How much out of that amount is to
be paid to Chetan?

(a)Rs. 375

(b) Rs. 400

(c) Rs.600

(d) Rs. 800

12 i . p ag e
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26. T TqUSATAI-AT e e e fhdien 50% 7 S forgd S o1, ot Surder AT ot 7 10% <
gaq 241, e 38 fircavamardt at sorEt 10% = gaerd i sholedn fhAdieat 2T, ST wTelT a1 a8l
43 FUITET T B S, T AT 7 fehare fohei?
(a) 210 T
(b) 300 T
(c) 200 T
(d) gmaht ATE

A wise trader marks his product 50% above its cost. He sells the product on credi

(a) Rs. 210
(b) Rs. 300
(c)Rs. 200
(d) None of the Above

27. 20 =achi=aT e 20 et g fadia

ST 2 e AT Seaieh anferer v
(a) 6 37V, 11 e, 3 gew
(b) 7 &, 4 729, 9 anien
(c) 5 Taam, 1 7w, 14 3nden

ut to a group of 20 persons. However, the rule of distribution is

e =TT Hiw AR,
et FEATIS Hisk 3ATed.

I e TTSI AT 3R,
) |4 =TT 9eATes e,

13|Page
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) e FedTde ugams ATk,
V) e Feardes d1e1 STHUETH! Il 41,

(a) @ e e

(b) &h [ 37IfOT IV €A

(c) %k 11 31101 111 Heg

(d) Tha! frehd w1y AT

Statements: All Watches are Keys
All Keys are Cats
Some Bats are Cats

Conclusion:

1) Some Cats are watches.

1) All Keys are Watches
1IT) Some Bats are watches
V)

(a) All conclusions are true
(b) Only I and IV follows
(c) Only II and III follows

(d) None of the conclusions foll

e number series is wrong. Find out the wrong term.

, 113, 127, 131, 137, 141, 149, 151, 157, 163, 167, 173

(a) 127

(b) 131
(c) 141
(d) 163

14| Page
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30.  25000/- THIEN. 8% T GH TNTHAT Wles AT & TehdTE AT TaaedTd fHau=a I el i
A
(a) 150/-
(b) 160/-
(c) 260/-
(d) 180/-
How much will be the difference in the interest if 25000/~ is invested for two years at 8%‘5& year with
simple interest and compound interest? . f . _
(a) 150/- P f;‘ N
) 60-
(c) 260/- e R
(d) 180/-

Al Gyl
31, U =aht 12 Tondt ofae sfedi/am, 18%m9%ﬁﬂmmﬁM%ﬁW4%ﬁmméwmwm
AT A IR AT GUEd A fehedt?
(a) 4.2 freft/ama
(b) 4.4 Toret/ama
(c) 4.5 fersfi/ama
(d) 4 Terefi/ara

the whole distance.
' (a) 4.2 km/hr
(b) 4.4.km/hr
(©)4.5k

15|Page
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What time should the missing watch read?

33.

(a) 138

(b) 140

(c) 135

(d) 145

If 30 men do a piece of work in 27 days, in w’h ia Qgi(dﬁays) can 18 men do another piece of work 3

times as great? ’

(a) 138

(b) 140

(c) 135

(d) 145
ST, TS, TR, S I FITE g e WA e 1 AT o i g 39
A 1,0, AT Tl 712, T STRRTIeT G IR @) SR, SFIRE TR el O W &R SR,
ST e fore ATl Tl RIS @eAdt T8
Five frie ahim, Lata and Malati are climbing a staircase of six ladders. Two persons are
not Lata is standing one ladder below Malati, Rahim is standing two ladders below
J ﬁgne ladder above Rahim. Jagdish is as much above Rahim as Lata is below Rahim

(a) ma‘m TR~ - TR - Wiewdl - T
(b) WISTT - ST - Wi~ - TEH - ST
(c) SR - SHI-a - ATerdt - TeH -
(d) T - AT - TURH - Whrf-ae — S

What is the sequence of persons from bottom to top?
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(a) Jagdish - Francis - Rahim - Malati-Lata
(b) Malati-Lata - Francis - Rahim - Jagdish
(c) Jagdish - Francis - Malati- Rahim - Lata
(c) Lata - Malati - Rahim- Francis — Jagdish

35. el wrrd feeprelt aTR?
(a) HIOTAET IRRY
(b) wata It arEd
(c) wata e gt
(d) wata at=h e wata arer g
Which ladder is vacant ?
(a) Any ladder
(b) Topmost ladder

(c) Lowermost

(d) Topmost or Lowermost ladder

36.

AT T AfEPHerdt mae SrFUR femeff
g fdweavr aae Uk iy SRAfarmt anas Faum faemeff
(d):c;ﬁfﬁaﬁrr HfEhar g Sfmead! anae U faeff

The students of science class showed their career interest as in venn diagram

Scanned by CamScanner



C

A) Engineering B) Medical C) Agriculture
Shaded area shows :

4
(a) Students having interest in Medical and Agriculture“

37.

; ) Farmer is richest.

’ C) The poorest person is photographer.

D) Gopal is a Doctor and Ahmad is photographer.

E) John is richer then Gopal but not as rich as Krishna.

Who amongst the following is a farmer?

18|Page
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(a) Ram
(b) Gopal
(c) Ahmad
(d) Krishna

38. TPl (x) R St feRier? o iy fFPaer

@ - o o =
«7 0ge @20 JRe v xe
1 @ N ) O

(A) (D)

(x) (B) ()

(a) Bt (A)

(c) (D) gd |

How will the key figure (x) look like after rotation?® Choo

Q X &
o7 OX®E ®
0 ® N\
{x} - _ (A) (B}

(b) Only (C)
(d) None of the above

(2) Only (&)
(c) Only (D)

.

3, P68, V130

(b) D09
(d) F10
number should fill the blank in a given series?
B02, ___ ,J30, P68, V130 _

(a) D10 (b) D09
(c) FO9 (d) F10

19|Page
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40. Tl RS DIV 3TTpelt A o 3Meswar

?
4 A
X i 5 : :
a : N )
R > %,
Select missing figure from answer figures: I %
9 | //,,////////;/,
‘ /"////;// 7 ’///'4-///17/
//'//7-./',4/:’/’
@ ~. Ay
y . /’// 77 // 2, 7 / L
& B 9 9 iy,

_ ,

L, '/Z//, 7

41. - . N W
gq ArHErye BRuTugen e wiuer? 77 ,

7

}) HIUETRU, foREwOr, Urunr, {Ereur.
3) Wi, sEe, TEww, YN

%) THRD, SerEd, e, m%
St // 2, "
D e A
c) £ @R %ﬁd%’;%%ﬁ’%% y 3

W b) wom

d) wWeRH

a) 3 %/%%?

) "Il

d) =

e <l
) WeTiehyieh HAUT WEMT WAy o fqeadl aem g e
et I o
a) wead ¢ SER b) waa R} TET
c) W sET d) =& =
20]Page . T
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45.  'TWE WIgH T@ETSN WEW BWOr A Ui WAl o Qe ndt?
a) SUS UETS WHERE WK b) et 2T WS dEo
C)W'&ﬁ"'ﬂw d) TER @ I«

46, WHIGUaT fHsamam = ?
) 4 3 diodE drg qE.

R) THET WU ¥ AT Ueh @R S T
3)%%&@%@%@@%@.

a) Wed b) Wem 3
c) Wwed ¢, 3 d) Tetsr ad

47. ‘W USH Ug ON@E, W HR e GRS, ?JafTTF@H euchuu W e,

= i b)fuararam e
c) 1@ ElER) d) Tﬁvr e
tn ki, EEH
‘ ji. i gf]lz;fm!t;!i “'

48. UG WHIH Iegie o T aha@T il

Ard, e, w®0 5

=) ghen, TEECREd, el | ‘*ﬁ, b) W%Fem gfeesT, WqHen foT

C) FE"[E-S'I FE“[%SII lqua; Wsﬁi L%I]i ? Qi\ﬁll Qa.”\aﬂ'[ m

‘«!} Vi, ;l, IE“ Ii
(T‘I*i'fl tili (1;;[ -
- b ";i(!”‘ éi}l f

49. “m—— m ]“a[al N “iff '!{Yig., ﬁ]’aﬁ‘

a) w0 Sl ) e

T { lvimf'

50. @ﬁwﬁaﬁ'ﬂa{m SEwEeArET sEE Tt freer

el I

a) Wad ¢ SUEY b) Wwad I SUEX

c) Wed R, 3 SN d) W ¢, 3, ¥ W&
21 |t s e
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